
SOLUCIONARIO  / Clase 25

Cierre
1. a)
2. d)
3. c)

Inicio:
1.-  a) 1,2 ∙ 108 

b) 1,0928 ∙ 106

2.- a) 72 000
b) 6 500 000

Desarrollo:
1.- 1010

2.- 106 = 1 000 000

3.- 100 x 1 000 = 100 000 = 105

SOLUCIONARIO  / Clase 26

Cierre
1. c)
2. d)
3. d)

Inicio:
1)	
a) 12
b) 7
c) 98
d) 43

2)
a) <
b) >
c) <
d) <



SOLUCIONARIO  / Clase 27

		
Cierre

1. d)
2. b)
3. c)

Inicio:
1.- 
a) Positivo
b) Negativo		
c) Negativo
d) Negativo		
e) Positivo

SOLUCIONARIO  / Clase 28

		
Cierre

1. a)
2. a)
3. c)

Inicio:
1.- 
a) 8 +(-3)
b) 9 + 14
c) (-4) + (-48)
d) (-2) + 13
e) 9 + 5 + (-2)

SOLUCIONARIO EVALUACIÓN SEMANAL

		
1. b)
2. a)
3. d)
4. c)




